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Shsda AR 5) A piece l.'.l.fpapzr is folded and oy a5 sk

Bart A ;General Intelligence & Reasoning the question figures. From the given snguypy 0 in

indicate how it will appear when 'Z'Pl:n:idw ey,
W % AT R o i i v St & R 3 s i

uunn!rnﬂh'md fo 3 mmmﬁtm“hmm Wy
¥ g1 # 37w R o0 .

Directions / By Find the odd number’ letters/ worg

|fram the given alternatives. Question Figure /T Agy

B e (el # 8 B Sy He we giE

1)

AYHIVW B) FGKL
EJ&CDF D) TUGE
2}
A} Cricket B) Chess
i Al
C) Foothall D) Hockey
B 6) [F'LONDON is coded as MPOEPO, What code 15
needed for DELHI 7
3) a2y LONDON ¥ 35 MPOEPO # i e § 3
A3 % B)I17 * DELHI # firg e # forar s
DEHLI B) HLDEI
cp3 - Pz ° Al
C) EFIMI DJEFMI)
4) Some equathons are solved on the basis of certain '
syShen. Find out :bc_mmm for the unsolved 7}  The toial age of a mother and her duughter is 60 years.
equation of that basis. The difference between their ages is 30 years. Find oul
e 7 Tl SOTTY & U O g R e ) 5 the age of mother,
SR O B 4 T 10 99 o7 Secid 4R A7 3 Fah o Frww arg 60 A E) IH LT
I 12 %9 =810 and/ 3 15 x 9 =513 drer 7 AT 30 7 & =1 Ry 3 T SifA
then/ @ 13 x 8 =7 A) 40 years B) 55 years
A) 104 B)410 )= 55 o
C)41l D} 401 C)45 years D) 50 years
asa soad
. a4
0 S S %Tﬂ o g
¥4 431% s Wiy = 6o
| B P S
¥ =\$
CEMT ¥
O CRfEimne e rma 2 P.T.O
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Part A «General Inmeligence & Reascning
Part A HGANT
- Queziion Moz to 9
TP AEET & & 0 7N

pirections / W A sertes is given with one fem
milssing. Owt of tha faur El'l'ﬂITEtl".-'E\E. choose tha
atternadive that will cormplels the senes.

v HgEIT B B Aw re g g & | B oo
g7 [AFewt & & a7 FEer g v 5 aaea #a
#1

8 LLILILINY
B s Bjaz

)34 D) 33

8)  BKS, DIT, FIL, HHY, 2
A) IGU BY 16X

CHIGW DyUX

IV % : BTy Fer Tt

10)  Ome or two statements are piven followed bt
Corelusions/Assumptions, 1 and 11 You have lo
consider the statement o e true, sven iF it scems 1o be
al variance feom commenly known facts. Youw are o
decide which of the given conchsionsassumptions cem
defititely be drawn from the given statement, Tndficats
Yeuur INEWer.

Statement:

L All Mayers ure Singers.

1. A1l Dhanicers are Singers.
Conclasion:

[ Sore Simgers are Dancers,
I1. Soatve Duncers are Players,

w2 FEey BT oA F P s et
et ATy 1& 1 Tomrer 77 ¥ ot R
& & T TEe e § o ow weeaa
Al et 7 e wEE g B aoer Sk
FT L0 Br o avmew A # sia-w GiEaw
7 # T FedAETa e 5w b
W I W i iy

L

L. 3T T I

I, T srcdr e

iG]

A} COnly conclusion 11 B} Bk conclusions 1 &
follows, 11 fiallcyer,
#rere foresd 11 T 3 0 et
e i = &

C)Omly conchusion 1 D} Meither conclusion 1
follows, T 11 follows.
EEr AL # o o= | Sy
IGETGIE 1 T i

PTO

P-5085/30505(8)
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Part A (General Intelligence & Reasoning

11} ¥ a mirror is placed on the line MM, then which of the
angwer figunes is the right image of the given fijguee?

T o ador ey ww Y g vy = A T 3
| et # & e e e AT A wE
R gl

'Qumrrlnn Flgure [ TH mtﬁ'r

| N |
Answor Flgures rm

AL B) c]{ o).

12j Fiod the missing number froa thae grven reapoasss,

few v et & Je Hear A AT
- T
A
' T
Ty A K
q}h-u’ A)2 B
/.,5'-;/,. cj9 D) 34

14) ook : Literature = 2 5
gﬁq—.ﬁ ﬁﬂ Pt
;
J{x}mn : Peust n{ﬂlm“m ! Musicing
D) Specics - Science
C) Song | pdusic :
}:ﬁﬁ Al ST ierT - A
¢t \
15) ll:;i::ﬁ?-ﬂ:'? -~
A) 9T Bj23 é’
_g}ﬁ.'-.', ODy1ia E}ﬂ}_
&

16) Ciiant : Drwarf o Clendus : 7

[ L
ST -t S 7 43
AJ Tiny E-j {renile
Rty BT el
) Idiol D} Wicked
E s

17} Choose the comrect Venn diagram which best illastrates
" the relptiomechip snong Hockey, Cricket, Games.

waﬁﬁﬂgmmqﬁwa?ﬁﬁ.m.mﬁ#ﬂw

refferes st o e &7 @)
LA lANIOO
'”‘QO “\“3 ,,/'| @ ‘ (
A} _B} C) o]

o Question Nos.13 fo 16
%ﬁ v wEaT 13 # 16 7% 18) How many toangles are fhere in the given fguns?
= |pirections ¢ fer Select the related word! letfers’ T ey # P P £
neimher fom the glven sitamalives, A o F
By o Beewl 8§ § gralRem iey Ry ses w
H
13} TF : EATR 1 SEAT : 7
A TREM B} TESA
C
FITEAY D) THAL A)l6 Bk
T_& As C)8 D)1z
P.T.O
P-S0B5/80505(8)
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. n;ﬂr-rl""“'"*ﬂ'“"' & Reasoning
part A BRI

which one of the given responses would be o
L 11.;,-.1r1i!'|,H.1|-1|- order of the followiig?

L Cutting 2. Dish

o Markes 5 Cooking

rvest Pt 24 Y bt T oy o g e}

3, Veetable

| AT 2. aFaEe 3 HEA -

h
SATER 5 TR wh o~
A2 4,53 Bj5. 3,21, 4
0)3. 55 1.4

JEIJ!LEI,L:':-,E

20) Ot of the four worils given, choose the word which

carmal be formed using the letters of the following
ward,

farw o R e A B g v g S eeetatae
ez i e o iy SR AT aATI S e

TRAHSLATION
A) AT ) HATION
L) TRANSMIT D) TRAMSIT

21} From tbe glven ansawer figures, select the one in which
the question Tigare is hidden/embedded.

ol e TR A 9 3w Se e g
Tarmst W Srpter T

Crestion Figwre | 95 ®gTd

E? @ ﬂ._ E.?i

AQ2017--£610088

ST ; v e o by

22) T’ started walking siraight towards South, He walked a

23)

distance of 15 metres and then ook a lefi tum and
wilked a distance of 30 metres, Then be took a right
tum and wilked a distance of 15 metres again, £ is
facing which direction?

"2 o ETET fam o i o o e o 18 der
oo M T ard 3T e 30 ey o e e g

HH g 15 3 o A 2 e R & sy
T T

¥
A)North B} West
It ifaE W " i
S{I South D} East 20
e . 5

Which answer figure will complete the patiem in the
guestion fgure?

s H It WnpTa v W & wieeT
i

Question Figure / 99 Fgh

D
o8

2]

el

&)

P-5085/B0505(8)
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ourtA;Gunaral intalligence & Reasoning  AQ2017-6610088
s

23) 1rp

24) A word s represented by only one set of numbers &8

given in any one of the altematives. The scts of
numbers given in the altematives are represented by
bwi classes of alphabets ag in two matrices given
below. The cohumns and rows of Matrix [ are
numbered from 0 to 4 and that of Matrix 11 are
nunibered from 5 10 9. A letter from these matrices can
be represented first by its row and next by its column,

8., ‘A’ can be re by 0,44 etc., and "X’ can be
represented by 78,97 etc, Similarly, you have to
identify the set for the word PICK,

T T T O WG HAE S v A b
imﬁimﬁ%ﬁrﬂrw#ﬁmmhﬁm
ﬁhmﬁm-wmtﬁmﬁapmaﬁnm
FﬁﬁhHMWmmmﬁhmmm
MRAEURLLE R (T PE o S —
WS 9. 57 el & v 3 o gk 3 Y

=
Lol ki
In'l
a7}
=
NG

.
LiA|-=*
N -
i;.m

4

@ tn) _
1=]
o

EIEI
Dlﬂ'li
EIEs

|| e

m
@
A=l
m|
]

—

~=op

& el
ool
&

=
o=

T }_El i
:.F
| :': | e

A) 76, 66, 34, 98 B} 63, 67,

_E456, 76, 34, 55 D) 76, 67, 34, 89
¥b Co m|Ssrcfo yuu )

"+ "0 denotes 'y, R denoles '+ and §
denotes ', then 181 2P4R 556 is equal in:

IR P+ FHERE, QO % FHTEE, R+ o e
TS - I B 1801 2PAR 556w sy

3

(=]

5

A)65 B) 36
Q)53 D)4
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26) I and W ae poaitive ingegers such that o™~ b= 19,

et the value of ' 15 - go-#
e ¢ A O TR PR = 19
=iy T F | gt

B) 1% o W
Aj I 1

5]1& -RU}IJ
27) A fan is listed # #1501~ with n discount of 20 %. What

additionsl discoun must be iffered to ihe customer 0
tl'l'rlg'lhsl'r:lpﬂt-l:tnl'll.‘.ﬂl'-'?

Mﬂﬂrmﬂmmtmﬂmuﬁﬁmﬂ
s by g v e e & st o e

7 T8 B T
A)15% B}
[+ RLE D) 2P

28) The radius of & circle i increased by 10%. The
percemage incresse of it aren is:
el o o T 100 oy & I &) S dEee
# T oitnm & oY geint

B)21% B)20%

C) 1% O 1%

If the ratio of areas of two cirgles 5 4 : 9, then the ratio
of thekr circumference will ba:

afE &Y gt F ST M 4 0 8, a3 Iend

AQ2017-6610088

W W Hs Wi

——e

30} The average age of 30 stodens § ,
age of 20 other stodems 4 30 years el CLAEE

total mumber of stedents fs: e E e Mg o)
30 ot i W g 20 36 R ¥ 20 s wrd dy
Het 31 30 o b o Y st v
j}ﬂyum

B) 48 years i
2y By 110

C) 25 years D} 50 years 1 -a_%?
At | snEd 5

31) A fruit setles buys 100 kg of superior variety of
mongoes at T45 per kg and 200 kgs of inferior vanety
ut Tl per kg and sells all the mangoes ar T45 perkg,
The profit percentage of the Fruit seller is:

2k oy vl ey T & 100 BRam, 391 243
v i am, B zr A wie ¥ iR go ot e
2005w, 3 240 Wi PR, Frag & ardean bR
o 3 W as W PR R a3

vt il A Wi EAE uy Mo
A) 4y 2 B)12.5 ¥

g g - L]
S D25 .‘&E
32) A certain number of men complete a piece of workin ™

60 days. If there were B men more, the work can be
fmashed in 10 days bess. The nosibes of men originally

f4:
oy el Fm w s R A qm e e oy
o I I & HeAT # En R s e ay | o

Tt e g o T ) S e P et

8T S WO AT A w68 = (A4
YRR S ST W 2 A)32 _Bjan &M= AL N=
Aj4:9 Byl @ m "o
s o ’ T ey
M The simple inderest on & sum for 5 vears is ~/ 5 th of
the sum, The rate of inlenest per annum is;
et i o 5 vk & T sy s 3w i
% o 4 1ot 35§ it T
oLtz \ ook _Tgﬁ ¥ i = g wav fo s
AYia B) 1%
- =
%_a"e =1 /-2 wemft : %’ 3
‘ & Y }12% D) &% %
£ < £ GFAS £ ) 8= I{E_J.;;
152 4R A p
Poossmoss(E) < A e < en _ﬂ_’ﬂa@
'ﬂ AT Lk _“..LE (e
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part B : Nuimarizal Aptibudg

_A0e0lf

34} A shophiseper sold @ TV set for 7175490 witl 8 disednt
of B% and earned o profit of 19.6%. What shauld bave
e the PELGminpe of profit enmed if no digount was
offerem]?
TRl o & @ g SRt R
TIT940 = Wy e 3w o7 T 19.6% F AT
BHT| W 3w &t op 1% wetd @ 2 o 0
A3 et wfrwe wm g g
A 3070

B) 24.6%

H,00% D) 24%

35)  Atwhat peroeat nhoye the cosl price must o persin

sk the price of an article 3o Ut e cam enjoy 20 %
Prodit arber allowing 208 discous?

P e O L T e

Ty

1008 o distance of 12 ki in 10 minutes, |Fiy
an o lnu'; z‘::“h o palss a telegrph post, then the lenpiy
lﬂkﬁ -. .
in 13-
;:;’:::ﬂlnﬁqﬂfﬁmﬁi#ﬁ.ﬁﬂammaﬂ
ﬁﬁaﬁmmﬂﬁmﬁmﬁﬁ&m
ﬁﬁaﬂn’:ﬁﬁrﬂmfimw .|
E]E'I:Im [
. igj‘m' o) HeT L:%i@
1
D) 140 m
C) 1o m o
1o #ET 144

38) A spherc has o el surface nrca 9TTem? . 1ig volurme is;
gt e = e S BT e & 2 ST

W= Aege 7
IS R Rl wwg S v e R ascrii B} 15 Tlem?
Fost wlter arftve e s w2 5 52 '
cple  20% T G & ovam o 20% @ o g €}4 Mo’ _,_Dig—“m"
SEIL A% B) 10 % :
Pt i -
JL i) B Dy 20 % @ I'hi population of a cily incteases at the rate ol 5% per
antiusne, If the present population of the ¢ity is 3,70 440,
36) 1Fatmi L Iz population 3 years aEo was:
iL [TREN mantasis am aven ced o .
howr, it arrves g s -:I::[i;:ﬁ:;g; IE-_' :E::El.tkémﬁf ﬁﬂm#mﬂ'ﬂ-ﬁ E‘Iﬁﬂﬁﬂﬁmm
]“’f”“““f';"“. Petag speed it s Jan per o it i 9T i TR STAEEAT 3,70,440 £ & T
HITIVES mimukes late. Find the Imgfh 'Ilf""-l'-'ji:".n'rﬂ? . :
AT s e e 42 fn sl oy aed Srarm g e T T S P e e
o a3 3 T At A) 280,000 B} & 540,004
g F E, R o st e 40 e iy L ER D} 30,000
5T g7 7Y ST T a1 e il vied
RS AT Tt st i 40 -Er,-. leaad momaBer of five dipits exactly divisible by 55
AJ 2 km B 205 kun : !
"'szfaa:m_ 205 Ejﬁﬂﬁﬁﬂmmnﬂﬁm:ﬁmm
(LS
G219 km ) 200 Ja B) 10023
2 Fo o 200 i, C) 10132 Dyoosz
e oM 5‘{‘31:' 5 WwoOoOT jf
v\ 1 ) ¢F
&> I < 16 :
s, B gy L 0 _
i o ¥ Y 3
e fz BHAISH® = tefoe i AL REE
o O O :
‘::'ﬁ- "-7—& ? E ':"-F-
ié‘“ 3 )T £O 1
B 8 1 ?"‘ B ?‘: PTO
1"‘ s
L -

‘ .. ' P-50B5/B0505(BI" Q’EJ
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F'Bltn . Humﬁlml Aptiiude

Ouestion Noz 41 fo 42
w7 gEaT 41 42T
har diagram Grag
rgctions / I The fallowing ba

ipm the salas of derrs (I taihs) in a8 dapartmental
Fovm Apeit o Augest in e current year. Sty
e graph and answer the following QUesHuns using
the data provided (6. &
= i Syt & Jt A e

o a’f#&(#ﬂ'#ﬂ?ﬁﬁi‘?ﬂfﬁ'ﬁﬁfw.ﬁl
A i ST A T S

AD2017--6610088

gt Fe BT Erfae v FT I A

—E—e N

———

v =

sj_ §
l

\I

4 ‘I
]

savis /BT ( in Laki J i & )
2 § B
—|—1—|—|-'-'—|-

o 1A -
S apmn wAmt TUNE JULY AUGUST
whw Wk @ Imd

41) The sules in July & hew mery tirnes b sales in May?
g g g s v o TR et T
it

-aky D
A3 B3 ane.
£)25 i

R e B 10 e R £

A3) Al of water weighs o kilogram, a D of onedber
liquid weighs 1,54 Kltegrama, A oodsiure of the twa
weiphs 1.270 kilogrems per Livre, The nuio of their
voluwmes i a fifpe of the mixtune is:

T Tkt SR BT e e T & i v T
s 3T B o e 1340 PR & aty o st
T T T ar ST At = eer e = L2
. =i Forey o e & v TR TR J Zek

MTIEAT T T AT mﬂ‘t}!z’jﬁ
Y27 34 f_},'.r- 7 1 % .
C)i7-24 D)7 51T o

44 A werehant buys 20 kgs of a varietw of rice at Thd per
kg and amsiher 40 ks of rice at TAO per kg. He mixe

thern and aclls 115 of the misture at T12.50 per kg, AL
what rate should he sell the renAinIng flixune 50 8s 10
curnt & profit of 25% on the whule outlay?

aﬂgmﬂﬁaﬁrﬁm#wﬁzmmnwﬁ
ﬁa.m.sﬁrmmmﬁmmmauuﬂﬁm

T T ot far . B o e A I
oy i vy 4 T A 312,50 WY AT
=y rr T i e v g7 R AT ey e 33
et o O 25% FEIN AT

N-ILJETS

oy TE-

A)TI2-

C)TL 250

45} A man sells an article at a lozs of L%, [T he had sold il
For #75 more he would bave gmined 20%. The cost

The wverags montiby sale (i lakha) is: yno price of e article is (i Ra )
E &ﬁ;::n:;ﬂﬁﬁﬂmmﬂ}ga ) oS ﬂémﬁﬁaﬂ#zﬁnmgﬁwmﬁmm
| : - g = T TTs ST o AT AT Y 3R 2w B
=
AJhol B) THO 13&@ g A A (T ) A
C) 650 BT jﬂé A)225 B 30
T
q‘l-'a _Byasn D) 150 ﬁm_______ffn
i -3 5
td 5 Yo e gl.:l - 3 5o
srode =¥ % 2’ ":_Eii:— A : -
sgraye = { ¥ EL il q =
T ol fukit|f, e
ﬂ 4008 e "'{'?HE‘ 18 4 Yoo &
Mﬁ o G-
Einh 3682 T s
Ako=4 7 v pgre ¢4 éé =,
P-S0BS/BOB0S5(E) ~ £ FFE:_T ﬁ:‘; ¥lLss LS e
- %f‘ﬂjiﬁ aw 7“‘:& e 0 5=
g g s oy
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- Numerical Aptitude
patl

AC2017-BE10088 _

NI o : Wy TRy

48} A person spends 25% of his sl income an Touse
rend, 15% on education of children and 45% on ather

items. I he saves 14,400 wnnually, then the peEaan's
todal income is;

aﬁimﬁqmmﬁmmaﬁrzmmmﬂ ¢
ﬁmrw.wmww#ﬁmrmmﬁ%m
mﬁﬂqﬁﬁmtﬂﬁﬁiﬂ'&ﬁ!]&;mﬂ

T T ——
50) O the three numbers, the first is twice fhe HEROINL, ame]
the second is twdce the third . The averupe of fhe

reciprocal of the numbers is ' f12 . The Twmbers g
mmﬁ##mmmmaﬁrma
=g T 712 ) T

A T 3w o dr A AJ20,10, 5 B2
A}ToR,000 B} 100,000 €) 34, 18,9 D} 16, 8, 4
C}T05,000 D)T1.20.000 g B EA
[ gy a o
Toet T =10 25 15 4%
47} Thr::tu]l:lauj'tht Present ages of fither and 5o is 90 ;
SRR 1M yeura enrlier the nytio of thei a5 5 0% £ =
The present age of the I“u?im-r 1'2:“ - i ik ":"':"“.'blfn "Rhﬁ
Wﬁﬁ&ﬁ?ﬂiﬁaﬁﬁﬁmaﬁrmwﬂtm p an @ =
T O Ty . A A |aies
HGH 5 2 %60 3egerer A oy T iy £ n
WWW LA A | = H:_l'ﬁj’ 7. .00
Al B) 8 ; WA W T Adey
3
€y Dy NAP* T =5 ) G
PIREE o f f:‘-"l;__“ﬁ
48) A can do a piece of ok in & and 14 i
Huovwr lomg will they 1:1]:!'.!: [:?m?ﬁ':}iam:]i:::-ﬂ;‘; F -0 * =1 @
waorking together? :
AT 0T w5t 5 Rt # oy B e s el e Sh ms
ﬁ4ﬁﬂﬂﬁrmﬁﬁ‘ramﬁ1ﬂ!ﬁmﬁaﬂwm‘r G5 g0
Rrer oy 3 e @
A)y2 ), 2 be%f — ¢ =x
$ 4 e
Chgt Dj% : g =1y =2L Ge, B
“ by =
.
b= e
) 1‘F2nfﬁ=?fﬁﬂfﬂ'—Tn'rE-l:lfr.'Jh:IiA:H:'Eiu; e 2E 2 i s
Ilﬁuiufﬁ'—zfﬁnfﬁ--'fant‘{;,g*rﬁr AB:C Lo o LY
et
nEs e
PT.O
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f fixed limes, ete. Expedition mnm_hinntn still
mqr.};:}u ekl sets of the alpine = L excepl they

with even higher altitudes, expanded time
b mare gevers wasiber,

Tomget outes, forelgn logistics, T .
mi;dnh'mnnl skills umigue to expeditionary climbing. The

of expediti |z climbing in man-Ii.umla].'a is
ﬁ%@@"im&w in the
gl Because Himalayan base camps can take days of
weesls o trek o and Himalsyan mountains can take weeks
or even manths 1o climb, a large sumber uE‘_ )
il amosnt of sapplies are nuc::as-:‘_l.'m.i’l‘hli i
W iti g climhing is frequenitly o largs
a.ui:li::ﬂ?:: :fmwmﬂuml InFisrppe and MNorth
America thers is less of a need for expedition-style
tmbirg on mosl mediam-si ims. These
maontains can often he exsily accessed By ear or air, are &
§wer sltitude and can be climvbed in & shorter time scals.

51} Which af the fallowing is true?

A) Expeditionary S Must meslum-sizead
climbing is popular in peaks in Earope are
the Americans. accessed by car or asr.

C) Himaloyon base camp D) Eveopean and North
tredes can be completed American mourntsing
in & day oF fwo. fequire expanded fime

scale for climbing,

52) What necessitates the huge amount of supplies

andl large number of personnel in Himalayan

expeditions?

A) foreign logistics B} low altitudes
Cewpanded me scale D) severe weather

k caondition

33) Which of the following style of mountaineering 14

ST 97 - ey shipeft

54) What accounts for the greater prevalence of
expedition mountninesring in the Himalayas?

A plavier airplanes B the severe weather
congition
the specific nature of D) multiple carries
Mo i helwatt camps

55) Which of the following is best undertaken as
expedifion mountainsering?

A) mediumn-sized }}I-I:I-Dﬂ time scale
mauntaing mrurtainesring
C) peaka in Europe and D) large and solated

Marth America peaks

Question Nos.56 fo 58
Directions : Four affarmalives are given for tha
IdiomyBhrase undedingd fn the senfence. Chooss the
which best expresses the maaming of the

ihamPhrass.

56} John was g5 good as his word and came on time for the
& meeting.

A)convincing _B) punctual
C)able to falfill his D) a promising voung
promise Fridi

57) Hecame to woark looking very off colowr,
i unl
Altired Bjunhappy

) warried Dyin

58) [ was acked to teke a hike for o comment [ made.
‘_A,}hcquwt B ihink

C)leave D)take 2 break

Question Nos .58 to 68
Directions : Sentences givan with blank o be filed i
with appropriate word(s). Four alfematives ane
lsuggesied for each quesiion. Choose the most

Epnaidered FER MR howvy? appropriats altemative ouf of the four and indicate i
A) sports mountaineering B} expedition gﬂﬂ*ﬂﬂw the coresponding circle in the Answer

mousiainesring ==
C)nipine mountsineering D) Himalayan l' 3 =

mountainecing 'j: b Qﬂﬂ{ij:i "WP‘TJ

a e _._I—'_'_'_-_\_r
PT.O
P-5085/80505(8)
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T T ¢ ETET A

part C :General English
_AQ2017-6610088
L ' ——
} A% So0n a8 this wnrkshup 15 over, T am L"IJ'mg o
every duty and go : loaded the _ ol cotton on the ek,
go on g holidav. 6T) He
A !
|
E’] m’ﬂﬂhmw D' clnm:. e E} I'_Il,l'llﬂh‘:!‘ D} hlﬂl.d‘ll'—"‘
B0} She  greatpleasure und satisfaction from g8) Anythingis which is not against th nature
cooking. of things-
A} wants B}has Aprecticable B) parable
itle
Lydrawg _Djelerives ) probable i
; . sE L 2 Nos.69 o T3
61) Poctry isa form of expression i which the T ﬁﬁmﬂ part of tho sentence is
particularity of the word and the image to eveks Dirsctions ! \van alfamatives to e
feeling, assumes great jenporlance. improver Hhe SRNTENGE
£ Game ne
Ajsupprissesl E;Ipammm:d nﬁa il P
‘Qcmnprﬂmﬁd Dlﬂi.g.l'ﬁiwd
: §9) Thewarc schisols in either sides of the roed.
62) e was 80 filled weith contempd far the prisonse . -
that he gave hima ____ lnok, A schoal an eithet side) BJHO 'mF'“:"'“E“:"’“tJ
ﬁ]h“m“i"""d B) derisive gy school on cither zide EJS-GTIDUEH n::u:r'n:hhar side
) pitying O} hustful zmoa
70) Many yeas have passed since India begung freg,
@ Mext summer We're going 4 g o Caniada, Ao improvement B} hos becams free
Ajto /HH':'I _E]t.ad becams free D) become fres
ﬁ}u" D‘]{!-"-'Ih’
| 71} We aeted your ingtructions.
d Julier's _ gffairis prubably the
= :«;:ﬁﬂ::d of all times, A) acted oer your _B)auied upon your
A secTel Eh:’:""m C)No improvement D) acted your very
) candil 0) clatdestine
72) Assoonas | ealled her, she came out of her house.
§5) The _ _ (owards the school was very sleep- A)is coming out _B) No improvement
Aktscend Bjascent 1 C)enme oul D) has goane out
C) aszent D) zccenl
o P 73) Coding ix nothing bt potting up informotinn in @ given
a : 2 3 . fiorminl-
66) Some intcresting matlers 0 our Jdiscussron
yesterday, A filling up B) No improvement
A up B) got up €} organising D) putting in
C) came in D) citatae bt
P.T.O
P=5085/8050:5{8) 12
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lish AQ 20176610088
_E_H.mrﬂ! En "ﬂ'"l'n: :'HT,H_-H
part = astion Nos.T4 to B3 L

. 5-::9 part of the senlenceas have amors

B} All the gin
. Find out which part of a 1= BITIS Etudents are wdyigeq
g soe 818 :r':”“f and bilacken the circle Meeling positively, L0 Attend the
£ "i'ﬂﬂ : / I‘!Emﬁﬂ!r ﬂ,ﬂﬂ{h’] JJ".'='| A-'Ell.c Ij 5
feo ter Enﬂprmﬁﬂ - nd the izt
m‘r:’:;ﬂsﬁ;' i fre from @Or hiscken the circle positively. U B) Miy ey
58

; ' aplian irt the Answer
mﬁ&ﬂﬂ"d"”ﬂ foo "NE Error” apl L4 Al the il sindes

|_,§‘._'|_E!_Ell'-___ D) aee advised 1,

: , intain zilencs for a whils?
@ Could you please man B2) The thief had hardly

Put the cash in his pocket

A plense maintain silence  B) for a while? then the owner woke up,
M :
GCouldyon D3 e resmer BT et had by
E' then the owmer “‘Ukﬁ D] ik the pash in hlb
; up, :
75} She hopes Lo become an enginger after she will s Pockes
complete her education, i e
] Ajan engincer aflershe B will complete hee engal Tigers are now altnost extineted, ——
] educativn, A) Bengal tijpers Bl
l G} She hopes to become D) No emror
Chalrmuost extinetsd, D}y Na error
76] Kindly pleass direct the tourists to the museum,
Questior Nos.B4 to 86
_A)Kindly please B} direct the tousists Directions : Out of the four altermatives, chocss the
g 'l'l'fhlﬂ.f? bast axprescos the ﬁ?ﬂﬂr?fw o
) to the museurn, D) Ma error the given word.

@' If wour stand with me in hour of nead, 1 wall never

forget vour, @
soatter

A}No ermor B} I will never forget you.
A) stire i
ChIf you seand Dywith me in hour of J e
e ..EJ hoard D) collect
78) At last he marricd with a poor girl
. BE) peak
A At Tast 1 '
B)he married A) inferior B) deep

CyMo emar D)with a poor girl, Chmaount Djotiom

™ Our team played g foothall match. 86) despai
EEpair
A}played B} Our team A)ho B} surrow
Chn football mach o
: DPiNo errar C) repair Djempty
90) 1t is better o sta
at hom

i s v ¢ thar go o market when

Al when it iy raining, B) ™o ermor

Ch T iz begre

b To stay at _F_Ilﬂ'.nn 0 1o market
___-__-___H_-_ _-_-_-_#_-_-_-

T
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Genera W T 2 T afieft
ifie is dead.
Question Nos.87 to 89 93) One whose ¥ |
Directions : Out of the four alfemafives, choose fha Apwidower B) spinster
one which best sxpmgses the meaning of the givert A R
I'l‘ﬂ'iﬂ. ci tmp}.:iur
I
a4) That cannot be ﬁHPmmd-
lici
@ Extactly A) intolerable B) inexplicit
A) Different 1 Lp) precisely C)imevocable _Djinexplicable
C) Similar D’}Ea.me o oS 1Wd
; givan, out of which only
Directions : Four words &
88) Answer one word is comeatly spelt Find the cormectly spaif
wiard
A Response B) Speak
) Question D) Resct
83) Pain 25)
1 Bj hier
A) Comfort B} Vibration A) hiar )
i D) heeier
5] Ache D) Throb _E}hmr )
P
Question Nos.90 fo 54 b
Directions : Qut of the four atemativas, choase Y _ :
one which can most sppropriately substitute the give A) milenium B) millenmium =
s - G} milenniumt. ﬂmll]miwn
a7)
80) The centre of attraction. :
A)hygens B) higene
nosELre B) facus
il j L) hygiene D) higiene
) custodion D} poimt
98)
#1) The murder of one's father,
-&jgnwmmnl B) goverment
icides B) homicide
- C) guvernment D) goverrment
C) fratricide D) regicide
a9)
8F) Overtum in woder,
A}skeem B} scheme
A)droam B swim
C) skeme D) sceme
C)wreck ’g}napaiiz:
PTD
P-5085/80505(8) 14
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00} B) cyllabus

D) sylabus
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part D :General Awaranass Asnis A LuA et S
AR AR 108) A __isapd'ng.fﬂlﬂlhﬂt Wmmﬂdi:ﬂm Wik
Part D :Genera| Awareness :}Mﬁmtmhﬁﬂmﬂm
b O L A

101} Amrita Shergil was o famous ;
FHA T v offg L

Ajsinger B) dancer

T Aadr
C)actress O pairier
HiF {GELarS

102) The highest platesu of Indin is the:
WA & Fad S gan st i

A} Chota Nagpur F_j Malwa

BT AT GIGE
) Ladakh D) Dieccan

e | et

Bill?

103) Which of the following elicits the Public opinlan o0 &

et Py o FeeTaTET # & fverk AT SerAe

&

B) Browser
Alm HIE=T
C) Wehstie o) E'if'k
- dwESE e

herine Espin who won the crown of 2006 Mis
10 Foth belongs o which country?
opr 37tk 200116 3 7T STeT S A T P

Lk 0

A) Columbia B) Phillipines
wrEET T

C) Ecuador D) Venezuela
g ergmn

108) The State with lnrgest gap in male and female ey
i5:

g v AT AR 7 FE O Herw A ey

i Jrsa Ee iy
A) Referendum B) Recall Rajasthan B)Kerala
I s m:’; e €) Uttar Pradesh D) Madhya Pradesh
i oo Wiy A T
104} Biogas is formed through ;
T 109) The law of demand states tht when :
i wiw e g &
A} Fermentstion B) Reducticn . — i
— T income and price rises price rises dem
. o o demand rises. rises.
Ej.ﬂwi}umrﬂ.um _Pl'm"i i fET RSt S dAm
| i 3 el B o e
105) Hepatitis is a disease of the: i = W
price falls demand ) oA Tises Lemi
PR T N £ ‘E}ﬁm- rises,
A Kidney B)Liver A b dramr T ae b Am A
T T e e
C) Heart D) Eyes
(] kit
P.T.O
P-5085/80505(8) 16
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B
gonerd poere
10 o conling of but iron in its metaliorgy
g um

ol "
< kot T ﬁr
. C2ih
g 3 ey 7 Y O AR Y R
i .
patiling B)annealing
e GILIGEIEE
Cloenehirs P empering
Ceat Fg it
141} Frajormaty meaiis:
g A
AUty and Tnegnty B) Eliminaticm of
AT T HEEA Eennomic bustice
i Fam =
e
) Fatherly tmeatmens ) Zpirit of brotherhood
TG W T wE # E
112} The Palleva dynasty had their capiial at:
Tedd T B 30 T g g
:}Kammu:’am B “engi
CIEice] Ly
L) Madurs D} Thanjavar
iy T
13} India signed the Pasis Agreement’ om 'Climatic {hamgae!
in April 2016 at;
HIG v 30 2046 7 Ty witadsr 77 A
Tt I T g e
A e Delhi B} Grneva
5 Teet AT
C) Mow-Yark O Par
Al EIrE

AQ2017--6610088

T ¥ - P vt
- ____-__-_-_-__——_—
14} Nek Chanyg Saini's

following gurdems: o0 With which of he

g He A g & W a3 i
7
A} Shalimar Bagh Rock
; - gardea,
Srinagar - Eﬂmndiga[: |
WA T, e TF T, g
C) Vrindavan Garden, D) Hanging garden
Mysore Mumbaj |

115} Which of the following sultans adopted Persian
customs and manners in court:
ST o 4 R me & e A TR
st 2 3

A} liutrmizh B} Julaluddin Kchilji
Moo Tl T

C}Balhan D) Alauddin Khilji
CEL ) WEEEA e

118) Wha convened the 'Congress of Vieona', 18157
T e =R i faer, 181s T 3T e

A} Bisnarck B) Mussalini

~ s IR

T Mesternich DyMapoleon Bonapsrie
BT A e

117) o the context of allemnative sources of iy, ethawnl
s viable Dio-luel von be oktained from:

St & S Felt 4wt A s e S &

9 H TuTHI o Ty e T 3w
Au) Tabaio B) Wheaa

3T, T
C) Suparcane DO} e

=T s

118) Hulnnd Carasza is localed in whizh for?

TG, ST T e 7 T by
Aj Red Farl ac A B} Red Fart at Tazthi
T # e e TRt 3 A T
C) Fateh Pur Sikn D) Hrwn Makal
FoiE T HED T HEA
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part D 1Ganeral Avwarengse

e B A e L 1AL

i ihe foliowing is the Vice-Chairman of

par AQ2017-6610088 . ——
119) Distani objects can be scen with the help of 7
& i T B weg A s e B
A} spectroscope E!t-:l-:smpn:
LI My
C) microscope D) cronometer
HIgw A Frex

@ Which country will host the undes-17 FIFA Warld Cup
in 2 7F

RT3 2017 # 3= 17 T I w0 oy A
FHA?
A} emany B) Bl
F araie
C}iIndin 0} Spain
'J.mr-r A

124) When all inpuls &re doubled and &2 a result, cutpul s
dohies Uhen we have

v T v e B e, afty oA
e o gt A B, R AR B
A) Tncreasiing relurms o B Constand neturms [
scaba, seale.
ey R e fEam wieree T &
& FAITE] FELE
) Drecreasing reluens Lo ) Momiz of the opdiens,
scele, T e et A
¥ HgE B
123] Twwr gseols melecules can reacl enly when they have
same 4
&t ety oy o @ O SRR 8 H 7
A} encrgy B) catropy
=t gl
C) Free energy Olymentation S slefic
e FlT e
CarE g
.l
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123) Who amang b
wilv framed MWITI
;gfﬁa i s e i AR AT
e |
g panagariva < BIAE Bhattncharva
%mfm AT, sreTETE
i D)B.V. Kamath o
3w 3
M g g O
) Himalayan Fagest Besearch 'f.‘.n:.m'rre is loanicd at:
@ Py e T i T e 7
l.g.a]'[belmldun B} Bhutan
BETTGR Al
i D) Shimlie
) Srinagns
}ﬂam’ ' Foar

125} Brown ring tesl is uged for the detecticn of .

mmmwwwﬁ#ﬁﬂﬁﬁﬂim
o

A) sulphate ‘_E:Iﬂhlﬂl'ﬂt':
i v FHANE

C}plsesphule D} milrate
HERE AHE

126) The element involved wilh hlood clotling is:
o & S T e Fe-ErE?

A)lran B) Phasphorus
At | WTEREE

C) Sodium O Calcium
T Enipi

127) Through which states does the river Chambal flow?

T A e ot 3 Ee e B

AME, Cujead, UP ﬁ}L’F‘, MP, Rajasthan
HH., 7T, 3H. IH, HH, T

C)Gujrar, MF, UF, Bihar D} Rajasthan, MP, Bihar
TS, A H, X, Ty, A9, g
RIS

P.T.Q
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[ Genpral Awaranass Q2017.-6610088 o L 0 D
B 132) In winder, at the tim i ;
: -« =Ly gafh l!'l'ﬁ']'n =
128) Ahinged do08 = 20 mnwwk . %7 A g s
i A PR et & e & w
A First arder lever B} Third order lever i . dhoieter v v, Y R AT
gy AT AEfra A e TG
G} Cantilever D} Second omder lever ”EEL::T Bkin and B) Skin
#efrm el WA W ay o
128) The sub-nuarine of Indun Navy is: w
gy e B EEA T S e e C) Lusngs D) Bueeal suvicy
AJENS Virat BINS Vikran g T
NS e EREEIG
C) NS Sindhurgkshak D) TNS Rajali T Ehe "’“"J;‘::;W““E““ Yojana of the goveriment is;
g e THS ToATET R WA T A 7
I;!"I.'I flﬂhm WCI.F&H;! of E]Tu umitE yan'um Hi'lld'.'l
: . . ; tancheaps & disables, Eroups
130} Stories of Buddha's birth and his previoss lives ase _ _ :
camfaimed i EEaE o et e g
T & it T S O A S e R T e g FTSET ).
waiaa e LA
:':I'l'rrpilﬂkﬂs B) Jataka tales C) To muke Ganga water D) To maks Sangam
e | o ——s pollution free. region of r\l_]uhnj!md
7 T more artractve for
C) Panchatanira tales D) Triratras b Ioimsts.
G & TR Erre o, THTEIE & HI1 8T
131) The h . ol i
b ilh'i.ﬁ- for I:ll!'ll:'l'l’]'l_‘iﬂjl:lE ihe deamess a”.:,,wﬂm:_. of
employ=es in India is; e Sefier erien]
A # AT % A S & Sy 5 s
T 134) Does the President of India have vete power?
] '. ST A o Ty ol e B
Arﬂﬂlml 1'1':{"]“':- H} CUTEI.I]!‘I.I:I:' I"ril.:l: ll'llj"_"-};.. A] h{!l B] TII.E ':fﬂl!ﬂi!l.lﬁlllt iq
T FTTHTFT AFH it silent om this,
Fo !
L) Per capita income., D) Standard of living, gyonty for maney bills D) Vs
wiet =afey amr - W ¥ v fAE [
"
' risd 10 s king wnder?
135} The consumer 15 camgi
el S gl T et T & Fr e
i wied Econonry
A} Communism Bl
friim wdeaEs
(&) Capitalism O ot
AT FAEER
--_--—-_ ——
RTO
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E—

L O i e L

art O ‘Ganoral Awaraness
136} The temm Renaissance means:
SR 4 = A A
g A The Golden Age 'ﬂ-}ﬁn Era of Religious
i b el | Reforms
i gael & 9
C) T Doark Agpe D) The Age of Reason,
i Enlightenment &
LR [riacowerics
e, W v e
Ll

137) Which type of function daes tlee anahytical engine

petliam?

T 2 &0 = (function) TERESOTF S99

o &

A) Logical functions B} Arithmetic (utchims
it i ard

&) Comtrol fimetions D) Ezlateml Tunchions
WO ey e Wk

@ ¥hich eme of the fallowing is o land lacked eoumiry?

FrrTTaaTeT o 2 Fi o o e e B i
A)Rasssia B} Austria

T — 311‘@1“-
C) India D) Chinn

e d

139) Area which supports the economy and pon tracde of A
se port bs ealled its:

ot 3 o, Rt Ty SEee o o o 3

2 et
440} Inan inflationary simation, which of the flly

sigleinenls i3 false for o country? wing
FgrERTTe A TR A, TR A ety
areere T 23T & TR H A B
A) Cost of Tiving riges. B Prafits rise faster thyy,
Haw TEE Ao Ay YRR
et Aagdt #r g #
' AT T W A
E]‘..-'u]u:: of money falls, D) Country's expor's
x FaEF become more
HET AER competitive,
¥l i1 & S i
AR B AT E

T4} Which onc of the following stalersen i5 True regarding
Tate ol inieresl;

o B % TEy A BT # 8 sty
T FE &

A Bate of interest muy b B Rate of interest

FETI, increases with
TR T ilﬁl’E’t‘ BLONOTG 2rawih,
T & &7 HITHR
TETH ¥ wry wEdr
C)Rats of interest can not - D) Rate of inlerest cannat
& b ey, Taz delermined,
SUTH &7 99 ] gt T &7 & e
Herer FET TR e

142) Which of the following is an eximple of direcy
democracy?

TR ¥ 31 = wemer e i sem

e T B T .
. B village Panchayt B) (irnm Sahha
A) econtmi: mone B} export basin A GHRE T T
A & e A= G Mty p
it Parchayal D} Magar Panchayat
) umnband ) hineer land T };-;: I:—E;
BiEC oy o we
143) Wh K /
} winnm&:'.?m]g the frllewing not un olymipics medal
AT 4 8 T reiTres o R i &7
AYK. Malleshwari B) Abbinay Bindr
&, Tty i gy
wila Custy D)Moy Kom
T iy Fim
PT.O
20
P-5085/80505(8)
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purt D:WI Awarenass
in the
Walcr sigmats are present in
g A7 fardt #itaE TEA 87
f margin
ventral surface of Leaf B)Lea
ﬁqﬁﬂ' & T &1 ey T
: D) Dorsal surfisce of Leaf
m:::n ot & S 8
145) A person suffering from long sightedness wears
q:ﬂ:mﬂn having:
ﬁé:ﬁ#ﬂamﬁaﬁwmh
Convex lenses B) Concave convex lens
Mm #a WA e AH &
C} Lenses with pegative ‘D}Eun:ﬂw B
porwel FaaE HE F
it ot ¥ AW

The words socialist and secular wernc mnserted in the
Preambile to the Constitution by:
Fifetmer i S A srATaranay 3t o e 1

i T g I
A) The 16" Amendment  B) The 427 Amendment
|6 & T 42 & i
440 amendment D) The T Amendment
44 & Firer 7 & it

147) A pressure cooker reduces cooking time beciise:
v § & Hio S w0 gAY S A S

g
A) the boiling point of the B} it ahsorbs mose heat
/)wlatﬁ inside is from its flame,

eavated, e e
TR M FTED oy oy ey A
&g T &7 -

Clthe higher pressure D) the heat is more evenly
tenderises the food, distributed.
TEAAT &TE HIa 7 FuaT HitE WA w9
HATIH & &t B A AafaE ey
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bl B 1L R
148) A Compuster that keeps cogies
requests is known :FS_T
FH HEET W o it ot
A} Mail Server

of responses and recent

’ﬂl?mly derver
C)Server D) Web Server
4T o wky

143) m:l:g',a reserved for the protection of the wildiife is
called:

o it & waver & A SmfEe a w wm wa
&

_B) Sanctuary B) National Park
O A e =
C) Foological Park D) Reserved Forest
Wl e SR

150) The largest part of our brain is:

BT AT o A v e wla-a g
A) Hypothalamous B) Medulla oblongata
HuTiEs Agar st
C) Cerebellum JP§Cerchrum
S5C Pofurs
Lem JEEL&--"EWH
2
s



